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(3) 88 B 5.7( 5.7)
84 ) 1.1(7.1)
4- 11 2 2.6( 2.6)
:




[ |
Grubbs
(
(a) 0.162 0.472 0.317 0.33
0.125 0.337 0.231 0.25
4- 0 0.899 0.431 0.46
B

b o/l




S.D. | CV 4 C )
(b g/1) | (b g/l (Wo/) | (a/Dy| (ua/h)| (uo/l)
88 [5.21  |45.8 | 878.6| 0.210 |430 0.308
(a) 83 (0.317 | 0.0463 | 14.6| 0.210 | 0.467 | 0.307 | 0.33
84 13.28 |27.9 |851.2| 0.0192 | 256 0.230
78 10.231 | 0.0318 | 13.8| 0.162 | 0.303| 0.230 | 0.25
4- 77 [4.52  |35.8 |792.0| 0.0231 | 315 0.425
i 75]0.43L | 0.143 | 33.1| 0.0231| 0.850| 0.424 | 0.46
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(a)

|
(Wo/l) |S.D.(ug/l)| OV
1. 1 12 | 0.341 | 0.0515 15.1
2.2 5 48 | 0.310 | 0.0429 13.8
3. 6 10 13 | 0.329 | 0.0600 18.3
4. 11 10 | 0.306 | 0.0235 7.7
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(a)

(a)
(v g/l) |S.D.(ug/l) CV %
80 | 0.316 0.0447 14.1
3 | 0.343 0.0892 26.0




(2)
|
(Wa/l) |S.D.(ug/l)| v
1. 12 | 0.312 | 0.0297 9.5
2. 1| 0.231 | - i
3. 0 | - - .
4, 70 | 0.319 | 0.0479 15.0




(a)

(a)
(bg/l) |S.D.(pg/l) CV %

1. 1 0.354 - -

2. 5 0.314 0.00706 2.2
3. 69 0.318 0.0495 15.5
4. 6 0.309 0.0366 11.8
5. 0 - - -
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(wo/l) |S.D.(ua/ly| oV
1. 1| 0.248 | - -
). 5 | 0.232 | 0.0219 9.4
3. 67 | 0.229 | 0.0315 13.7
4. 5 | 0.252 | 0.0448 17.8
5. 0 | - . -
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|
(Wo/l) |S.D.(ug/l)| V¥
1. 1 13 | 0.456 | 0.184 40.3
2.2 5 42 | 0.436 | 0.153 35.1
3. 6 10 11 | 0.409 | 0.0968 23.7
4. 11 9 | 0.399 | 0.0525 13.2
;

1 4 2 4




(uag/l) [S.D.(uag/l) CV %

1. 1 0.434 - -
2. 6 0.432 0.0282 6.5
3. 64 0.441 0.147 33.3
4. 4 0.275 0.117 42.6
5. 0 - - -
L

3 4

2 3 2 4




(b g/l) | S.D.(u g/1)

~N O O B W
R P kO O O O
OT PN O Jdo1T NN

o1 o1 O o1 O1

18 0.409 0.203
0.50 23 0.438 0.112
0.75 16 0.454 0.101
1.0 11 0.432 0.0829
1.25 2 0.449 =
1.5 1 0.752 =

1 0.347 =

1 2 1 3 1 4
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